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QUESTION 1

A customer is unhappy with their current data center infrastructure. They want to purchase a FlexPod system to replace
it. The customer asks you to help them understand the benefits of Solution Support to determine which support model
would suit them best.

In this scenario, which three statements are correct? (Choose three.)

A. You have a single point of contact for all cases

B. Solution Support is a lower-cost support option

C. There is no need to diagnose the problem before you call support

D. Customers do not need to open tickets; all issues are automatically reported

E. Issues are solved by solution experts

Correct Answer: ABE

QUESTION 2

A customer has a FlexPod configuration that supports FC and uses Cisco MDS switches. The customer wants to add a
48-Port 32 Gbps Advanced Fibre Channel Switching blade to support both 32 Gbps FC and 32 Gbps NVMe-oF.

In this scenario, which Cisco switch is appropriate?
A. MDS 9250i

B. MDS 9706

C. MDS 9148S

D. MDS 9396S

Correct Answer: C

QUESTION 3

You are designing a FlexPod solution that requires 100GbE connectivity between all components.

In this scenario, what are two NetApp Controller types that would satisfy the requirement? (Choose two.)
A. NetApp AFF A220

B. NetApp AFF C190
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C. NetApp AFF A800
D. NetApp AFF A400

Correct Answer: AD

QUESTION 4

A customer wants to deploy Cisco Intersight into their FlexPod environment. The customer is using the Cisco Intersight
SaaS model.

In this scenario, which two virtual machines are required to support this requirement? (Choose two.)
A. Cisco UCS Fabric Interconnect

B. NetApp Active IQ Unified Manager

C. Cisco Intersight Virtual Appliance

D. NetApp Virtual Storage Console

Correct Answer: BC

Reference: https://www.cisco.com/c/en/us/products/collateral/servers-unified-computing/ucs-x-seriesmodular-
system/flex-pod-datacenter-ucs-intersight.html

QUESTION 5

An administrator is designing a FlexPod solution with NetApp ONTAP 9.7 software with a logical separation of data for
each department.

In this scenario, which two components must be part of the design? (Choose two.)
A. IPspaces

B. volumes

C. virtual port channels

D. Storage Virtual Machines

Correct Answer: AB
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